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GEL: LONEEN AL ESRE 2 (WHABSRERST), TREKAXRBKEREEREN, &
REH D RAHELARK.
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. HERIHE:
1. fGFEAREE .
FDP & & (mg/g £ B )=[(AA+(exd)xV2x10>xMr]+(WxV1+V)xD +2=0.55xAA~WxD
2. A E R
FDP & & (ug/10* cell)=[(AA+(exd)xV2x10°xMr]+(500xV1+V)+2xD=1.1xAAXD
3. IR ARRAH
FDP & & (mg/mL)=[(AA+(exd)xV2x103xMr]+V1+2xD=0.55xAAXD

e---NADH EE/RIEY6 5%, 6.22x10% L/mol/cm; d---96 L t4E, 0.5cm;
V---IMAFEBUR AR, 1 mL; V1---IIAFEARMAEF, 0.02mL;
V2--- X NEAAF; 0.2mL=2x10L; W---FERJT &, g;
Mr---1,6- B B b# (FDP)4> T &; 340.06; 500---AHR AR, H s

2---1 731 FDP A% 2 705 — 32 I




